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SN SABRED
33 A FSHA 2=
el sttERsSTaNd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Osua2 gsnd 2o 107,175
SENY SN (SAE) (HEAIY) 860,000 860,000
308 AXIHSOIA 860,000 860,000
18 SIS0t HAS A 860,000 860,000
O2ctel 4dE SdsAlY 88 860,000
SSHEEHI(KHRIEHH) 762,450 1,062,000 299,550
= 586,500
= 175,950
308 AHXIHMSO0IA 762,450 1,062,000 A299,550
= 586,500
=S 175,950
01 XN B2 LS 762,450 1,062,000 A299,550
O3SE5t U (SSHEH!) X 762,450
= 586,500
< 175,950
sSiE IAEYE SEXE 232,000 232,000 0
308 AtXIEMSOIE 232,000 232,000
01 HASHHBSEXS 232,000 232,000
OsSitE s S4gX3 232,000
sSttE vaald A 40,500 40,500 0
308 AFAIEHMSOIH 40,500 40,500
01 AXEH B2 LS 40,500 40,500
OsSdtE vaad X2 40,500
AT RS A SRS (XX ) 3,368,300 0 3,368,300
= 2,591,000
[ 777,300
403 MR HMSA=01H 3,368,300 0 3,368,300
= 2,591,000
S 777,300
01 AXISHA=2 22X 3,368,300 0 3,368,300
Ost SRR SHE (APC) A8 X 3,368,300
= 2,591,000
= 777,300
=2ctol OBiE X3 140,000 140,000
308 XXM SO0IH 140,000 140,000
01 XN BSELES 140,000 140,000
OFds=s OILIAHNA X2 40,000
Osdt= 2ete!l M gdat X3 100,000
EFI| 33018 NAE 2,132,800 0 2,132,800
= 1,333,000
= 799,800
308 AFAIEHMSOIE 2,132,800 0 2,132,800




SN SABRED
M J FEHA 2=
el sttERsSANA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,333,000
=S 799,800
01 XN B2 LS 2,132,800 0 2,132,800
O8Il 85018 XI& 2,132,800
= 1,333,000
< 799,800
Sh= orM ] et rd & 2435 366,469 624,279 257,810
= 285,330
= 81,139
GAPRIUAIE 22 XI& 100,800 333,000 A232,200
= 84,000
= 16,800
403 THXISHMSAH=01H 100,800 333,000 A232,200
= 84,000
=S 16,800
01 AXISHHA=2 2L 100,800 333,000 A232,200
OGP ?IdAIE 22t X3 100,800
= 84,000
[ 16,800
GP &HNY 24 XA 261,729 287,339 N25,610
= 201,330
= 60,399
308 AXIHMSO0IA 261,729 287,339 A25,610
= 201,330
= 60,399
01 AXEH B2 LS 261,729 287,339 N25,610
OGP ot8 e 24 N 261,729
= 201,330
== 60,399
GP 0I5 =k X3 3,940 3,940
201 er23y| 3,940 3,940
01 AtR2t2|HI 3,940 3,940
OGP S A 3,940
SR Zde A 2,512,800 3,893,090 1,380,290
= 1,550,000
= 962,800
AKX EDel JlgtEd 121,000 912,290 AT791,290
308 XXM SOIA 56,000 137,000 81,000
01 AXHN B2 LS 56,000 137,000 81,000
OZNHEH 29 X2 56,000
403 AXIEHMSAH=0l 65,000 768,000 A703,000
01 XM A=E X 65,000 768,000 A703,000




A SABRED
A NX RENH 2=
Chel: 2FIZE 2435 KA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Ozz=c AuE &1 2 JIs2Y 65,000
SPEC A4 243 N 50,000 50,000
308 XIXIEHRISOIH 50,000 50,000
18 201 ZS B Z AR PIEAIY| 50,000 50,000
OZYTE AHIET 2% 50,000
ZCEW 7 N (HBAY) 168,000 168,000 0
308 KIXIEHRISOI® 168,000 168,000
P CEREREES 168,000 168,000
ONSEre ZCZ IENR (N, L
2l) 168,000
=442 22 4 BE N 40,000 260,000 £220,000
307 LI2H0I& 40,000 280,000 A190,000
RIEIE PN EES 40,000 230,000 A190,000
OUEAl EJf2}) BEX8 40,000
HIE AMEDS N 180,000 180,000 0
2 90,000
= 90,000
307 212¢01H 180,000 180,000 0
2 90,000
= 90,000
VRIEEPONTEES 180,000 180,000 0
OAME DS TR 180,000
2 90,000
= 90,000
SAE AHINEH DRET NS (ReA) 30,000 30,000
307 LI2H0I& 30,000 30,000
RIEIE POV EES 30,000 30,000
OsAE ADEAH X8 30,000
HASE =AE 09X N 1,898,000 1,339,000 559,000
2 1,460,000
= 438,000
308 KIXIEHRISO1& 1,898,000 1,339,000 559,000
= 1,460,000
= 438,000
PR == 1,898,000 1,339,000 559,000
ONASE SAE 29X X 1,898,000
= 1,460,000
= 438,000
HIROP ZARNHTE 29 N (2IREXE 25,800 25,800
308 XIXIEHRISOIE 25,800 25,800
PR EREES 25,800 25,800
OHIZ0R ZAZHAZEH 2 N 25,800
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10,000
10,000

7,528,820
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1,550,000

o+
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H
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